Stoichiometry #2

Oh no!  The Riddler is at it again, and Batman needs your help!  He seems to have forgotten his stoichiometry, and needs to know the room where they are keeping the hostages.  The Riddler’s hint said:

I am in the room equal to the number of moles of laughing gas produced when I mix 5000 liters of ammonia with excess oxygen gas at 25°C and 1 atm!  Where am I, Batboy?! MUAHAHAHAHA!

“Holy laughing gas, Batman!” said Robin.

Please help Batman figure out where The Riddler is!  Think of the children!

Batman gives you a hint (he found it on Wikipedia):  Laughing gas is N2O, and the unbalanced chemical reaction that The Riddler was talking about is:

NH3 + O2 ( N2O + H2O

THINK OF THE CHILDREN!
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